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Read the following instructions carefully before you open the 
question booklet.  
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I. 	Use blue /black ball 	point 	pen 	only. There is 	no negative 
marking. 

1. *-4-"F 40/.411(4 Elief TZ1frd N-  TT mi.] ii TII iicio ‘icrN .  

t I t fq A-Ire-4 iirW -161 
2. This test booklet contains 90 questions of one mark each. All 
the questions are compulsory. 

2. 	01-1 M.-f VWITT 4 90 ..-1 f i TM * I Tit s.R.-ii t \lc-cN 
1 '1l 31ft-gr4 * 

3. Answer each question by darkening the one correct alternative 
among the four choices on the OMR SHEET with black/blue ball 
point pen. 

-61 3. V-7 F4M-Fil .4 t c' --4-0. iq7 	,41 	ftWeCI "0 ..1) 	/ 1A 

NT,F TErtre t . .er 4-tq4 t Viginnt W.  I 

Example : 

Correct way : 

Wrong way: 

Student must darken 
correct answer on 

7f 

4r.k̀16-1,Ur 	: 

I,   

Q. No. 
Q. No. Alternatives 

.1-1q1 7 

1 0 0 I ® 1 0 ® o ® 
 1111 ,1: 

Q. NO. 
,.   

Q. No. Alternatives 

1 & ® 	8 0
,. 

1  ® iftf.1 	1J,11-,1: 

the right oval only after ensuring 
OMR sheet. 
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4. Disparity in mentioning (S('. ST & PI I) in application tnrm and 
OMR sheet can make your candidature invalid. 
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3i-d7 3MT-A Titer Thct lig \I-WI .4.  AZT 'W• *tom * I 

5.Students cannot 	scratch /alter /change out an incorrect 
answer 	once 	marked 	on 	OMR 	sheet, 	by 	using 	1% Ilite 
Iluid/e raser/blade/tea ring As caring or in any other form . 
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6.Separate sheet has been provided for rough work in this 
test booklet . 
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7.*Please 	handover 	the 	ONIR 	sheet 	to 	the 	invigilator 	before 
leaving the l'Aamination hall. 

''Take all sour' question booklets w ith 	nu. 
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8. Darken completely the ON iliS of your answers on ONIR Sheet in 
the time limit allotted for that particular paper. 

•  
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3TR TM TR Vitlacf MI 1 

9.1"our ONIR sheet kill he evaluated through electronic 
scanning process. Incomplete and incorrect entries may render 
your oN I R sheet invalid. 
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3B-91-180 

91. We cannot see image formed at blind spot 
because- 

91. 3T r ftR 	51f 	ci (t) 541 .9-et kZ141 - 

   

(1) It is made of Dead Cells 
(2) It is covered by black Membrane. 

(3) It has no sensory cells 

(4) Light cannot reach these cells 

92. In dispersion of light by a prism. The 
coloured light which bend the least is 

(1) --1-ffrwrail 	c4-11 t 

(2) qs 	1') 	rc 5 NI cci 6)1f t 
(3) Tfr# 	tfm-r Tit-4fi cblDicpiq 	 

(4) . 4co1YI 	ch)P1c4)13 cif trp 	4Ic11 

	

92. V-14-d.  s1 cf)R1 	ftri w,fl 	IITTT44 

F4047 $14 alrfl oui 	T t 

1) Yellow 

3) Violet 

2) Red 

4) Green 

(1) titm 
(3) trit 

93. 3 	 TFT +if 	c1 

93. The message of image formation. On 	 cis 
retina of the eye is conveyed to brain by 

1) Ciliary muscles 2) Cornea (1) loteTPT 	rir 

(3) . 1t9T 

(2) --"rf4-7:rr 

(4) 	I PI ct) 

 

3) Retina 	4) Optic nerve 

 

94. Cinematography makes use of 

(1) Accommodation 

(2) Least distance of distinct vision 

(3) Persistence of vision 

(4) Bifocal lens system 

95. A ray of light strikes the surface of mirror 
at an angle of 30° with the mirror, in this 
position angle of reflection is 

1) 30° 	 2) 60° 

3) 45° 	 4) 50° 

Q 96. When earth crosses the tail of a comet, 
swarms of meteors are seen which are 
called 

1) Constellation 	2) Asteroid 

3) Meteor Shower 4) Meteorites  

94. T-4(1 	-ucizi)-Tr mR--Jdt 

(1) *1'i' 1-f 

(2) 3137Z .q.ft 

(3) 4 \Li ci ci 	c11 

(4) f 	9)1 cP*1 	ci- r Th-T 

95. 	cORI 4 	f+7uT 	cid tR, .q4u1" ti 30°  

1“Icik . 117T 

6 '11 

(-0 30° 
	

(2) 60° 

(3) 45° 
	

(4) 50° 

96. Q14 tyP-At f -7fr 	mr'TV cl 	t, 
q'l 	 1=k- 

(1) cikp-io 	(2) aj-----rxg 

(3) \.3ett)Is4Rt 	(4) \3c<t) I 

S/30 NTS/15—R II—Sat—B 
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97. A person wants to obtain virtual image of 	97. 	f•-#-) affW1   3TITT7 TT 3TRITRit 
same size, he should use a 

(1) Convex Mirror (2) Concave Mirror 

(3) Plane Mirror 	(4) any of these 

98. Which of the following phenomenon is 
based on persistence of vision principle? 

4 GI 11.11 m116c11 t, 	(4,<-1t 

(1) \3cc1c1 q 	ul 
	

(2) 	q 

(3) \119clel q4u1 
	

(4)Tff4 .0*4•41- 

98. f*-ifIZ.qo 	col-i tit 4 tie-ir 	tiocio 

.ER 31-m-rf 	t? 

(1) Myopia 	(2) Colour Blindness 	 (1) fk"-u 	qlq (2) Uul) 	dl 

(3) Cinematography (4) Hypermetropia 	 (3) -ac►R 	Yc T 	(4) 7-ft ci  

99. In old age, eyesight becomes foggy. It is 
due to the eye lens become cloudy. When 
it happens persons are set to have 

(1) Myopia 	(2) Hypermetropia 

(3) Cataract 	(4) Presbiopia 

100. An instrument commonly used for the 
measurement of atmospheric pressure is 
known as 

99. VT4 A 	 `2;'"'' a;7Tth t 1 qZilfk 	(41-1 

'41:1-0T 	t1 "14 	 t 	c2414v144)' Th-t 

f ,-.-AR.qc1 A t 0-1 TIT )41 	\Aim t 

(i) 	 14 1 	(2) 7 	,<141 

(3) 91Nif4q 	(4) ,Niv iT 

100. clit\ALf qiGr cl 4-1144 	t-7 -1=4 	chl-f 

114: 

(1) Manometer 	(2) Barometer 

(3) Calorimeter 	(4) Potentio Meter 

101. Refrigerators are a good example of 

(1) Conduction 	(2) Convection 

(3) Radiation 	(4) Conduction and 
Radiation  

(1) 	 

(3) 	cl 

(1) tilei-f 

(3) W-47'0-9 

(2) cilq1614-11 	 C4-44T-d7) 

(4) ftTqliTtli 

(2) 	 

(4) tiic-1-1 

101. 	 f.,11R1c-I 	tr 

zra-r ~3cl DUI 

102. If we increase the pressure, the volume of 
the gas would 

(1) Increase 	(2) Decrease 

(3) Remains same (4) Vary 

103. Cellulose is made up of the simple 
carbohydrate units of 

(1) Fructose 
(2) Glucose 
(3) Lactose 
(4) Maltose  

102. eff 	i qiq F c t, 7). 4,0 	3TILTU9 

(1) *ITT 	 (2) Ertrrr 

(3) \-14-tirr 	 * 	(4) -1dc-11 

103. trel-- f 	r q116.1161 	 

6)01 *? 

(1) 1.0q-t1,-5 

(2) ,, c1cr,),5 

(3) (,)q-c. 

(4) 4-11c,-63:1 
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104. The polymer used for making ropes for 
for rock climbing is 

(1) Nylon 

(2) Rayon 

(3) PVC 

(4) Polythene 

105. When a copper vessel is exposed to 

moist air for long, it acquires a dull green 

coating. The green material is a mixture of 

CuCO3 + Mg(OH)2 

CuCO3 + Ca(OH)2 

NaOH + CuCO3 

CuCO3 + Cu(OH)2 

106. Chemical formula of sulphuros 

104. 	+--f 	f 	11 TOT * -T 31:R17T T4811 '97 

%iris tg 	 WI 	fir quo' t? 

(1) 7rWf7T 

(2) 'kmrq 

(3) Tir,--47ft. 

(4) IMIRIITt 

105. 74 	 ei 	*Pig cif .1=f gig 

.•z51 vim] t c11 *fl  	trf 4 

71:1 	t I q6 ‘<1 tRTP--1 	 ci") ftriT3r 6)01 

f -RT/4 P 4-4 rmilf Ok) 

(i) CuCO3  + Mg(OH)2 

(2) CuCO3 + Ca(OH)2 

(3) NaOH + CuCO3 

(4) CuCO3 + Cu(OH)2 

106. fl (-4-1-Ljs q 	(1,1 	s ctql 	 *? 

Acid is : 	 (1) H2S03 

(1) H2S03 	
(2) H 2 S 04 

(2) H2SO4 
(3) S 03 

(3) SO3 

(4) H2S05 
	 (4) H 2 S 5 

107. f41 1 	EE1191-0 	pt)9m: A, B 
107. Read the following statements carefully 

and identify A, B and C respectively. 

(i) A is stored under kerosene 

(ii) B, catches fire and stored in water. 

(iii) C reacts with water slowly. 

(1) P, Na, Fe 

(2) Na, P, Fe 

(3) Fe, Na, P 

(4) Fe, P, Na 

c 

(i) A c) 	 .1iusiRcf f+—zir ,ttoi * 

(ii) B cfilyslcfi 	3TF 14(ctt * c t 	,rici 

co,<c'f t` 

(iii) C wM THRT cict-k of 	fhr rig 	cir 

1 

(1) P, Na, Fe 

(2) Na, P, Fe 

(3) Fe, Na, P 

(4) Fe, P, Na 
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108. A petroleum product used in place of 

coal-tar for metalling the roads is 

(1) Paraffin Wax 

(2) Bitumen 

(3) Coal gas 

(4) Coke 

109. The lowest temperature at which a 
substance catches fire is called 

(1) Kraft temperature 

(2) Absolute temperature 

(3) Ignition temperature 

(4) Boyle temperature 

110. Read the following statements and 
identify X and Y respectively 

X : It is a fossil fuel used in thermal power 
plant to produce electricity 

Y : It is a porous black and almost pure 
form of carbon. 

(1) Petrol, coal gas 

(2) Coal, Coke 

(3) CNG, Diesel 

(4) Coal gas, Petrol 

111. The range of a clinical thermoMeter is 

(1) 20° C to 25° C 

(2) 28° C to 35° C 

(3) 45° C to 55° C 

(4) 35° C to 42° C 

112. Which of the following is not responsible 
for water pollution? 

(1) Arsenic 

(2) Carbonate 

(3) Fluorides 

(4) Lead  

los. trff-4. 	MITfui tg 	OOP< t -WM TR 

ct71-1—TIT 1)01- 414i 	 ftwiT 	 

(1) 4R.rf%-ff .9)TE 

(2) fq-S4- 

(3)  

(4)  

109. c16 1,-1c14-1 ci I y f 	TR 	1-1-qT0 3TTTT 1-145T4T-R' 

uici,) (1401 t 441 cP6eilc11 g? 

(1) st-44- 

(2) '- 	c114 

(3) v4(-1-1 c114 

(4) EiRicl c1141 

110. fPf 	ct) 	st)41RI: X 	 Y 4 Li6T4i-i 

X: 	-) •t:s. 	ftr4 fop- 

WTitzi WWI 	

 

iii 	Vzj-4q.  f 	TwIc1Itl 

Y : L15 	Ti-Ta 4)1(,-11 Li-4TO 	TT-r4 TT 

	

qtr 	 ti 

(1)  

(2) m--1-F, co co 

(3) 	 ItTa.  

(4) OCT f,t&a.  

111. cxc#1f 	A v-g-qf eTTIft-d7 	01,404-i tRm (NI 

tVt t? 

(1) 20° C to 25° C 

(2) 28° C to 35° C 

(3) 45° C to 55° C 

(4) 35° C to 42° C 

112. f=---ff*Zqci A crOl-r vjMVprui > c \•v1•141 --Tet 

t? 

(1) 3TT-i= 

(2) cb1c •)t 	 

(3) Ltc,N15.6 

(4) 	 
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113. The 'green house effect' refers to the 

(1) building up of pollution in the 
atmosphere 

(2) gradual warming of the Earth's 
atmosphere 

(3) hole in the ozone layer 
(4) increase in human population on 

Earth. 

114. The plant disease 'citrus canker' is 
caused by 
(1) Virus 
(2) Fungi 
(3) Bacteria 
(4) Protozoa 

115. Match the Column I and Column II 

Column I 
	

Column II 
(a) Fungi 
	

(i) Fragmentation 
(b) Yeast 
	

(ii) Binary fission 
(c) Amoeba 	(iii) Budding 
(d) Spirogyra (iv) Spores 

(1) a(iii), b (iv ), c (i), d (ii ) 
(2) a (iii), b (i), 	c (iv ), d (ii) 

(3) a (iv) ,b (ii) , c (i) , 	d (i) 
(4) a (iv), b (iii), c (ii), d (i) 

116. How does low concentration of iodine in 
pond affects life cycle of frog 
(1) Decrease the number of tadpole 
(2) Interrupt the metamorphosis 
(3) Unabling the sperms to fertilize 
(4) Decrease the size of frog 

117. Which of the following is an example of 
Rabi Crop 
(1) Maize 
(2) Paddy 
(3) Linseed 
(4) Groundnut 

118. Combination of cell components are 
given below 
(a) Cell wall and plastids 
(b) Cell wall and cell membrane 
(c) Plastids and nucleus 
(d) Cell membrane and Centrosome 

Choose the option from following 
Which is correct for plant cells 
(1) a.b.c 
(2) a,b,d 
(3) b,c,d 
(4) d,a,c  

	

113. 	ttff 	;11T74" i ,r),<cit t: 

(1) qicticNur A 977 5T 	 

(2) of 	 5T tiR-E10 	 

(3) Zfr-- 	t-Nci A ft5--.  

(4) 7.41.    A of 

	

114. 	.0)---R*"" 'Wig") •<) 4 I 	 viler 
ki 	t 

1. 1'4771 
2. 47,1 cr) 
3. '1--4T101 
4. ;k-dt-Y3TT 

	

115. 	ct)si 	I 	ct)l ri 4-1 115T fkaT9 ct) 
ct,1.04-1 I 	coi c.i 41 I 

(a) cPcict) 	(i) 	 
(b)  (ii) itatt'q 7Thiz 
(c) 317NT 	(iii) 13MTM7 
(d) -k-ii*•141i*i (iv) -41-771 

	

Titf car T Tilcf 	 

(1) a(iii), b (iv ), c (i), d (ii ) 
(2) a (iii), b (i), 	c (iv), d (ii) 
(3) a (iv) ,b (ii) , c (i), 	d (i) 
(4) a (iv), b (iii), c (ii), d(i) 

	

116. 	 \Ito -4 31-Fht19.  
izR 	cr474 slor * 

1. 8s,ild 	\t-1(I A cr, 	
2. Olqickul ' 3Tq1Er 

3. .1M-1131311 	 "f4k--7 	Th7 91-11 

4. -4?N-- 	3.T1-77 A T-4t 

	

117. 	 t -e17 	41 	1 i-pfld 	T ,3q16 vii t 

1. 4-icttor 

2. En7 

3. 31-----#t 

4. 117---4t 

	

118. 	cl.))P14)1 4cct) 	TPT 	 1 
(a) cr))Picoi f4 	kliR-t(', 
(b)cplOicol f4f 7-4 	 
(c) ,(111-4. 	 kq 
(d) ct>1%.4->i 	 ft 	\')-0 \914-r 

ti trRuf colDicr>i 	f''7 Ter 

-T-114 ct) 

1. a.b.c 
2. a,b,d 
3. b,c,d 

4. d,a,c 
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119. Which component of air is fixed by blue 
green algae to increase soil fertility 
(1) Oxygen 
(2) Nitrogen 
(3) Carbon dioxide 
(4) Hydrogen 

120. The hormone which helps the body to 
adjust to stress 
(1) Thyroxine 
(2) Growth hormone 
(3) Testosterone 
(4) Adrenalin 

121. The species of plants and animals which 
are found exclusively in a particular area 
are called 
(1) Exotic 
(2) Local species 
(3) Specific species 
(4) Endemic species 

122. What will be the number of 
Chromosomes in pollen grains of plant 
having 24 chromosomes in its leaf cells 
(1) 24 
(2) 48 
(3) 12 
(4) 36 

123. Some of the agricultural practices are 
(a) Removing weeds 
(b) Sowing 
(c) Adding fertilizer 
(d) Loosening the soil 

Choose the option which is correct for 
the use of 'Hoe' 
(1) a and b 
(2) b and c 
(3) c and d 
(4) a and d 

124. Which of the following is not a food 
preservative 
(1) Sodium meta bisulphite 
(2) Sodium chloride 
(3) Sodium Benzoate 
(4) Sodium carbonate 

125. "Dolly" the famous animal was a 
(1) Cloned sheep 
(2) Cloned goat 
(3) Hybrid sheep 
(4) Hybrid donkey  

	

119. 	c"t4TF cliq 	3T-7:fq Th-T ftv-TitT7uT 

cr) ,2q1 347d1I 

1. 3tf-44t 

2. 11*Ovirf 

3.  

4. 6I)‘,1-f 

	

120. 	\31)\71-il 4 31-4-iv4T A cl-iN 	tiq)vivf 	clic) 

Z1Titff MT -9-Fe 
1. 24-r-*--4-4 ,1tff 
2. A tr=i1- 
3. Z.t-t)\1-cNi-f 

4. Q•n-i 

	

121. 	3117 u1I-Ick) 	YQ-11WI 	cT Lc 

TYT 	Icrr 7rt t I  
1. fter 4\x111c ql 
2. - v--TT-4111 vii1 	X11 
3. Alp(' (ri) 	 

4. f4tlsf 441 54vinq't 

	

122. 	#14 	 `E1 11 G1c11* 

..Lf 	H-rn .Thet ct,)Plct)i T1 24 7:70 t 
1. 24 
2. 48 
3. 12 
4. 36 

	

123. 	C 	tred-zrr 1i 	 t I 
(a) 	 6t1-11 
(b) 9T11 
(c)  
(d) ffigi• ct-)) 11971 	 

t  	 f7 -R4-et 

-q4  
1. a .2.TT b 
2. b T c 

3. C 	d 
4. a .ff9-17 d 

	

124. 	f -1 1 A tr 	vT9 4 	1 trffwT 	t 
1. fl1 rql-1 1)1 Ell.c9o4-01*t 

2. \i-f1PAq 4T(1)•fl*_2, 

3. \'-in41 4i 
4. \Ling4i cbleisqd 

	

125. Vf414  	2 
1. 61-- 

2. cl-c,1).-  Tht 
3. .-ictr1 4v 

4. •-ict-) 
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126. 
If 3,1121 + 	+ Vra = 2x - 1, then x is 

(1) 3  
(2) 5 
(3) 13 
(4) 25 

127. Area of a square is increased by 44%, 

then it side increases by 

(1) 44% 
(2) 22% 
(3) 10% 
(4) 20% 

128. Mahesh buys a bicycle at 2  of its actual 

price and sells it for 20% more than its 

actual price. His gain is 

(1) 40% 
(2) 60% 
(3) 30% 
(4) 25% 

129. The area of a rhombus is 256 sq.cm and 

one of its diagonal is twice the other in 

length. The perimeter of the rhombus is 

(1) 64 cm 
(2) 32V-5.-  cm 
(3) 16 Nig cm 
(4) 164 cm 

130. A square of side 11 cm Is made of a wire. 
The same wire Is reshaped into a circle. 
Then 

(1) Area increases by 33 -
3 

% 

(2) Area increases by 27 -121  % 

(3) Area increases by 30 -13231  % 
33 

(4) Area decreases by 2 7 -
121

%  

126. 
7ft 3\1121 + N/4+ V-1-474 = 2x - 1, x 

11Tff: 
1.  3 
2.  5 
3.  13 
4.  25 

127. 	Si 	r6..c5" .  44% Giq,I411 V1111 t I Tfl--4.  

.1 -wr t: 
1.  44% 
2.  22% 
3.  10% 
4.  20% 

	

128. 4`4T 1  1114D7c1 	WiTer c1M-IDO 	cT * 

ITITT 	 * I   	.uTr#t 

qi*cfRcp 	20% 3TfitITr i tqur t 1 

‘J.tict)I -aPT 

1.  40% 
2.  60% 
3.  30% 
4, 25% 

	

129. 	Tr9-4-gliq TTbc 256 44 ,() 41). 	*11c171 

Lm (doui -grk fdcpuf met 	 tut -rifrl 
5T t 131-rm-glf m-r trforrct t: 

1, 64 4. 

2. 32\3 Olt. 
3. 16Nig 
4. 164 *4 

	

130, 	11 tft. 	¶9T 75.  zuf, crzr 	* irmzrr 
TrztT I mi.  1T 	9)1er) t creff 'FT TIT ftZTT 
vilc11 *I It: 

1. 6W:5F A 33 10/0 t 
3 

2. 4--Itm A 27 12-°/0m°1 	),11 121 

3. 4k-licM A 301- % met -ft 6141 1 
33 

4. alth-F A 27 
121 

% 	4)41 trft I 

131. 	3-7x 	3-7y 3-7z 	 131. 	3-7x 3-7y 3-7z = 0, z.)..0  2 + 2 
If 	

± 
+ 	+ 	= 0, then the 	 + 	+ 

2x 2y 2z 	 2x 2y 2z 	 x y 

3 	3 	3 . 
value of - + - + - is 	 3 Ti Trrff t: x 	y 	z z 

(1) 21 (1) 21 
(2) 28 (2)  28 
(3)  20 (3) 20 
(4) 15 (4) 15 
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132. In the given figure, AB=2xcm 
	

132. f 	AB=2x 	DB=(x-3)'R, 
DB=(x-3)cm, AE=(x+5)cm and 

	
AE=(x+5)tek 	AC=(2x+3)'l41. t I x 

AC=(2x+3)cm. The value of x is 	 1:117 0;11: 
A 

A 

B 
B C 

(1) 7 (1) 7 

(2) 9 (2) 9 

(3) 10 (3) 10 

(4) 8 (4) 8 

133. 	If .1a'31)  = 3  then value 2" 	+ b  is: 
	 133. 

4o-3b 	1 	 2u -b 

(1) 1 
(2) 3 
(3) 2 
(4) 4 

134. If x + y = 6,y+ z = 10,z + x = 8 then 
	

134. 
lx + 2y + 2z - z - x is 
(1) 12 
(2) 10 
(3) 14 
(4) 16 

135. A man pays back 	of a loan in first 135. 

installment, he pays back -
I 

of the loan in 
t; 

second Installment and still Rupees 500 
are to be paid. Then the loan amount is: 
(1) :20,000 
(2) 15,000 
(3) 10.000 
(4) 5000 

tif4 4a+31, 	 2a+b m-r 	t: 9vr 
40-3b 	' 	2a—b 

CO 1 
(2) 3 
(3) 2 
(4) 4 

74f4 X 	y = 6,y + z T 10,z + x = 8 
0-  2x + 2y + 2z - z - X -C TIN 61r: 

(1)  12 
(2)  10 
(3)  14 
(4)  16 

cr) 31-147# WTI 1=-tzff .4 ft-4 Tr7 	./T3  ITFT 

	

rartifetrWrveiltwurwr ; 	* 1011 

I 	OM '41 oo wi 	7TrO .4 	--ti)' win A.  
wOr 
(1) z 20,000 
(2) 15,000 
(3) 10,000 
(4) Z 5000 

136. The rates of simple interests in two banks 136. 	•4-- t A 	B 	\,-iNkui 	c61 '4'1 41 
A and B are in the ratio 5 : 4. A person 

5:4 t I 	.urf 3TIft c(1 qt-ic1 A 30 B 
wants to deposit his total savings in A and 
B in such a way that he receives equal   * 14,  	tr 
amount of half yearly interest from both 	3TT•c cTT t 13TTrrff qt 31-icrt 
deposits. The ratio in which he deposits 
savings in banks B and A is 	 qt-R-1 B 3 	PC4TWTI ct)•wi I 

(1)  
(2)  
(3)  
(4)  

5 : 
4 : 
5 : 
6 	: 

4 
5 
6 
5 

(1)  
(2)  
(3)  
(4)  

5 
4 
5 
6 

: 4 
: 5 
: 6 
: 5 
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137. The digit at unit place in the sum 
4100 + 4101 is 

(1) 8 
(2) 6 
(3) 4 
(4) 0  

137. 41" + 4101 	 Th-T-4 Th7 3fW t: 

(1) 8 

(2) 6 

(3) 4 

(4) 0 

138. A train is moving at a speed of 132 km/hr. 138. 	tF 132 f4)41/Ttur t TO.  tr . 7 Tett I zrfk 

If the length of the train is 110 m, how long 	tF Thct WR11-4 110 t. t c c T71' 165 Ifft. 

will it take to cross a railway platform 

165m long? 

1) 71  sec. 2 
2) 7 sec. 
3) 1 min. 
4) 9 sec. 

139. If x2 + ,2  = 7 and x > 0 then the value of 

X3 + is 
x3  

(1) 2V 
(2) 18 
(3) 6 
(4) 9 

140. What percent of numbers from 1 to 70 
have squares that have unit digit 1? 
(1) 1 
(2) 14 
(3) 20 
(4) 21 

141. If a : b = b : c, then a4  : b4  is? 
(1) c2  : a2  
(2) a2  : c2  
(3) b2  : ac 
(4) ac : b2  

142. The value of 

(1 — 3) (1 —1) (1 	 100 
(1) 1 
(2) 50 

(3) SO 

(4) 50 

'e4)14 	tiR ctr<4 	ft-d-T *Ng c141,11? 

1) 71t. 

2) 7 
3) 1 grid 
4) 9*. 

139. en x2  + = 7 7-4-ft x > 0 t t x3 + x 5r  
Trr9 t: 
(1) 2-rs- 
(2) 18 
(3) 6 
(4) 9 

	

140. 1 t 70 	31ZWI'311 	cl, 	tl # f+—dt 	 
grail r 	r 3tw 1 *? 
(1) 1 
(2) 14 
(3) 20 
(4) 21 

	

141. 	a:b=b:c 	a4  : b4  tTfri 
(1) c2  : a2  
(2) a2  : c2  
(3) b2  : ac 
(4) ac : b2  

	

142. 	(1 — 	(1 1) (1 — 	... (1 — 1o0) TT TIN t: 

(1) 1 
(2) 50 

(3) 50 

(4) 
50 

2 



145.  145. 

11 

Direction : A pie chart is given below in which 
expenditures on different heads of a family are 
shown. Question numbers 143 and 144 are 
based on it. Read it carefully and answer the 
question number 143 and 144, 

fk-47f : 	c,t) 1-114.  T.41J f4trr '1 11 

trft-417 	 ,-1q1 tr7 	,114 cue) Tr-4 cr)) 
. 71-f-EfT 4N-11 t I Y--f \LiCq-Ir 143 -4 144 *.-1 ER 3TTWTftff 

t I *..) UlT91T4'4 	11Y I  i 143 	144 4)1 

-k 

143 	If the miscellaneous expenditure is 
Rs.3000, then difference of expenditures 
on rent and food is 
(1) Rs.3000 
(2) Rs.6000 
(3) Rs.10,000 
(4) Rs.5000 

144. If total expenditure is Rs. 36000, then 
combined expenditure of education and 
entertainment is : 
(1)  15500 
(2)  14500 
(3)  12500 
(4)  13500 

143. 	Far4U 	3000 	 C1-4T 
u.4 	 

(1) 3000 
(2) T) 6000 
(3) 10,000 

(4) 5000 

144. 	-Eff 	ct2j4 Tg--4 	36000 	ftaff 	4-1-1)sZul 	ct) I 
\'11411c-f ct3r1 	t: 
(1) 15500 
(2) 14500 
(3) 12500 
(4) 13500 

In 	the figure BC 
angle LACB and 

II AO, z OBC = 72°, then 
OBA are, 

1" 	.0 BC II AO, 	OBC = 72°, d-)-  LACB 
LOBA 	411-1: 

(1) 54°, 36° (1) 54°, 36° 
(2) 36°, 54° (2)  36°, 54° 
(3)  72°, 36° (3) 72°, 36° 
(4) 72°, 54° (4) 72°, 54° 



150 f1"ffftzft 
1. clzwIT, Th-rttr 
2. MT* 4 1)q1c1 

3. 41)qM.1, 19179t 
4. err, TNT 

'Errtt 	RQ.1-ff t? 

151 	m41-61.7 ftts.  witHr 4ro of? 
1) 1821 
2) 1822 
3) 1823 
4) 1824 

152 	71tit 	 mc'twmT f 	ct? 
1.  
2. 'flvil 'fl4-f 

3. 961c-411 -telt 
4. f- ct,i•-iq 

12 

146 Arthashastra was written by -- 
1) Chanakya 
2) Ashoka 
3) Chandra Gupta Maurya 
4) Bindusar  

146 	31tfvrif. f ---RT* 510 furr Trzu? 
1. tfluicr4 

2. 31-71)-  
3. -cf•-qTc-I 
4. f4---ii17 

147 Vardhman Mahavir is related to which 
religion 
1) Hindu 
2) Bodh 
3) Sikh 
4) Jain 

148 Who founded the Hyderabad State ? 
1) Murshid Quli Khan 
2) Saadat Khan 
3) Nizam-Mulk-Asaf Jah 
4) Hussain Ali 

149 Who plundered Delhi in 1739? 
1) Ahmad Shah Abdali 
2) Nadir Shah 
3) Teimur 
4) Mahmud Ghazni  

148 	"qttl'N -fi--61t7 f -7T EIA 	ticaT 
1. ft-- 
2.  

3.f 

4. ‘31-1 

148 	 7r":1 	. P-Trizrm ft-Tr-4 4? 

1. 131t-q 

2. - 1311eicl 

3. 31TWIF 
4.  

149 	1739 14 11-71-4 	 ctti? 

1. 31-Ffq Y 113i 

2. TTfi Yii6.  

3. .t7 

4. TT-el-4 iTt 

150 	Hampi is located in the basin of which 
two rivers 
1) Krishna, Kaveri 
2) Kaveri, Godavari 
3) Godavari, Mahanadi 
4) Krishna, Tungbhadra 

151 When was Delhi College founded? 
1) 1821 
2) 1822 
3) 1823 
4) 1824 

152 Who founded Shanti Niketan? 
1) Rabindra Nath Tagore 
2) Raja Ram Mohan Roy 
3) Mahatma Gandhi 
4) Vivekanand 

153 	Battle of Buxar was fought in -- 
1) 1764 
2) 1765 
3) 1766 
4) 1767  

153 	(61 cisl cPc1 
1) 1764 
2) 1765 
3) 1766 
4) 1767 
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154 Which ruler is known as Sher-e-Mysore? 
1) Akbar 
2) Jahanglr 
3) Haider All 
4) Tipu Sultan 

166 	India's first Deputy Primo Minister 
1) Lai Bahficlur Shashtrl 
2) Sardar Vallabh Bhal Patel 
3) Dr. Radha Krishnan 
4) Dr. Zakir Hussain 

156 Which of the following is an example of 
common property resource? 
1) Farms 
2) Garden 
3) Pasture Land 
4) House 

157 The 'Nagar Koil' in Tamil Nadu is famous 
for which of the following :- 
1) For Wind mills 
2) For Hydro Electricity 
3) For Geo Thermal Energy 
4) For Extraction of Natural Oil 

158 Which of the following does not support 
sustainable development : 
1) Reuse of Old Newspaper for making 
paper 
2) To collect rainwater for irrigation 
3) To prepare bags with old cloth 
4) To keep engine on, during Red Light 

159 `Chromite' may be put/kept in which of 
the following category of the minerals 
1) Ferrous 
2) Non-ferrous 
3) Non-Mettalic 
4). Energy Mineral 

160 Which of the following statement is not 
true about coal? 
1) Coal is a traditional source of energy 
2) It Causes pollution 
3) It is a non-renewable source of energy. 
4) It is an inexhaustible energy 

161 	Which of the following is an important 
minerals for producing Atomic energy :- 
1) Lime Stone 
2) Uranium and Thorium 
3) Sodium Chloride 
4) Maganese  

154 	7-7-fliV 114-f t 1 9T 711*ict) T1.  v11-11 91101 t? 
1. afT-4-i' 
2, 1/471-efti 
3, tri7 
4, ig-TUFT 

166 	Ut1=-1411fin0 := 
1. Mr WV rit 
2. tr-MIT Frd 
3. ZT.Wall TsuM 
4.T.7117 9 

156 	1 ,-.-1fiZqo A t 0-1 TIT 71t al" .<-l\kii\q-f TT 
\q16'M t? 

1. T4-U 

2. 611'1 

3. T-INI1116 

4. 4-1c01-1 

157 	c1rki-111 4)1 	cl-))*(4 -11414) 	fki=t A .4 
f if 	t? 
1. Hci-i tiRcoq) 	fk 
2. vici F4V4-ff 
3. 7-Ftfrzi 67u11 

4. ifs c)(-1 

158 	 TO \LIc1c-P-1)tlu1kt f4T-FTE A \961z-Ict) Wei 

t? 
1. 31- 1-4R 	'39.: cl-)1,1\31 q-11-11 

2. citil v1d cl-)l 	-) -71 	 (.111 

3. *1" P-1FT 

4. did 441 "cfR.  TfTt cl.)) -RZT8 

159 	'sP)I-116e 	 ctwit 
34-r-d-r *? 
1. ei 6 

2. 3T 

3. 3TE1TfkT 

4. \3wif 

160 	 cf 	-0 ct>1•1 	m.-zm 
t? 

1. tzrr 	144I-N1410 	t 

2. 1;4717 err 

3. "Erg thvli 	31-91M7uTuir4 T51)--d 
4. q6 olvif 	T7ft 7 Tgi-Oi 

161 	1 19 31‘3-1 \10-IN-f 	f67 	.urf1-7 $1--r 
t? 

1. -r-k-if trce 

2. zez171 30 qictzili 

3. \ -̀inq,-f ctc,i)s0“ 

4. 41--Iluf 
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162 Which of the following pair is true in 
reference of shifting cultivation? 
1) Jhooming : Mexico 
2) Milpa 	: N.E.India 
3) Landang 	: Malaysia 
4) Roka 	: Canada 

163 AMUL (Anand Milk Union Limited) is an 
example of which of the following 
industry? 
1) Private Sector 
2) Co-operative Sector 
3) Public Sector 
4) None of the above. 

164 Which of the following is an example of 
renewable resources? 
1) Petroleum 
2) Natural Gas 
3) Coal 
4) Soil 

165 Which of the following types of soil cover 
the largest area in India? 
1) Alluvial 
2) Black 
3) Laterite 
4) Red 

166 	'Universal Adult Franchise' comes under 
which fundamental right? 
1) Right to Freedom 
2) Right to equality 
3) Right to education and culture 
4) Right against exploitation 

167 	Main objective of 'Rule of Law' is 

1) Freedom of Press 
2) Freedom of Citizen 
3) Freedom to Judiciary 
4) Freedom to Executive 

168 When different parties share power to 
form a govt. it is called 	  
1) Panchayat 
2) Federal Government 
3) Coalition Government 
4) Majoritarian Government 

169 Who is not a member of SAARC? 
1) Nepal 
2) Srilanka 
3) Bhutan 
4) Thailand  

162 	1 	cV4   	 74* T1--ff-TIT 
vi) 	,1 	t? 
1. VTT: 1)14\Lict-)\1 
2. firzfr: 

3. Oqi41 : 
4. 7)T-1 : ct)-115I 

163 	31-W (3fr4-4' fh 1 i f 	c i f Z s) 	47 
.3qiut t? 

1.  
2. *16chl 
3. ti14vii0-) 

4. -1=1-4-4Tr 	t •i 	g1 

164 	 t 	-Trr 	 tittiqq TT 
y:t) \3q161 t? 
1. 01- 414-i 

2.  

3. TYTT---OT 

4. 4- q1 

165 	z T T7f-4-4 3T -i 	rF 4I ,-114 ar--4t 

- t? 
1.  
2. T1-41" 
3. clt•Ot. 

4. clIcl 

166 	- 	a-N-c1) 4-1011 	 f+-Tr 

3ff:fm-F 	31--d-47 34-r1T t? 

1. \Lcicicii 5Tzi-RwR 

2. 'Wit-MI TT 31-fITTR.  
3. ftaTT 	•-i•-cqf 	f 3#i'ITT7 

4. 7t1TuT 	f 	3TfitT7 

167 F Wri'N Tgjf 3-qtFt t - 

1. ti 	tcici-Acit 
2. -1I 4IRch cbc) 
3. .q.-1ILI41ic1,1 c61 

4. (111441fct-)1 cb) *cid-A(11 

168 	\Jiff 	 cr, 	Ti-TFU 	eicr,‹ 

fl'<c111 	1 -1,froT 	t \•i-) qc-ii cm \Yin t? 
1. 4 -r-4114c1 

2. Tflt-z-4 ti.“01*1 
3. 41c3cill (ft1-41.-V) \ -̀kcO' 

4. ---g.rf-ff Tct 

169 	f i .0 col- 	(SAARC) 
1. •9-1- 
2. ,11--4wr 

3 - 
4. P4-1-117 
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170 	Which is the following is correct? 
1) The union list 97 subjects, state list 

has 47 subjects and concurrent list 
has 66 subjects. 

2) The union list has 97 subjects, state 
list has 66 subjects and concurrent 
list has 47 subjects. 

3) The union list has 66 subjects, state 
list has 97 subject and concurrent list 
has 47 subject. 

4) The union list has 47 subjects, state 
list has 97 subjects and concurrent 
list has 66 subjects. 

170 	Th- 1 A- 	Trr 	Tref t? 

1. *iti TO A 97 qtRI, '1\r4-1 VT 14 47 qtR1 "ct 

-R=11=1-4M -VT A 66 1'47-4 t I 

2. tt' VT A 97 fdtig, -U- 1 TO A 66 it“.1 

TFT-4-01 Tk-t-  A 47 1 	IL1 t 

3. *Iv-I TO A 66 Rag, 	TI--4t A 97 fdtig •ci-4 

-9-ff-i—J1 TO A 47 fdttg tI  

4. *I-1 VT A 47 1,441, 	 A 97 fdtig 

TAI A.  66 qtiLI t 

171 Which fundamental right is violated when 
a person of scheduled caste is prohibited 
to enter in a temple? 
1) Right to equality 
2) Right to freedom 
3) Right against exploitation 
4) Right to religion 

171 	 .arfdf 
A 7471 	 T ,tior t 
3T T1   pi-T? 

1. \91-II-IcIT T-T 

2. *cicI,IcIT 	TaTfi: 
3. 71tql3T 	3TitT- 7 
4. M-fiffT 	 TT 3TRI-T17 

*II ul f ct) 

371-T chl-f 

172 Chairman of the Rajya Sabha is called 

1) President 
2) Governor 
3) Vice President 
4) Prime Minister 

173 Which great man is known as "Iron man 
of India" ? 
1) Sardar Vallabh Bhai Patel 
2) Mahatma Gandhi 
3) Jawahar Lal Nehru 
4) Subhash Chandra Bose 

174 The President can dissolve the Lok 
Sabha on the 	  
1) Advice of the Chief Justice of India. 
2) Recommendation of Lok Sabha. 
3) Recommendation of Rajya Sabha. 
4) Advice of the Prime Minister. 

175 When someone is going to upper court 
from lower court to review the decision, it 
is called 	  
1) Acquit 
2) Eviction 
3) To appeal 
4) File Report  

172 	TP.Tr 	TTcTft cp) wtr W I ciI t:- 
1. TriKcif - 
2. 'fl‘3Y-11-11c1 
3. \34 77K-cff 
3. TITI-ff Tit 

173 fiuTf4fr4 	 ' 	T c11 	Ttr 
wlcil t? 
1. *NI,Z 

2. 4-161(-4-11 

3. ‘31cII6 	•)6t) 	 

4. TiTti tiq 49.  

174 	!Rc c 	U ct,) 	 Itrr 	ticbc11 — 
1. ITTIT-d 	71A 	 #t tioil6 
2. . -T74-1-T 4 zi--Tefrr 
3. 7T----ffliT 	31-7TTIT 

4. (6) *1016-  tf 

175 ftqt 	 traT 
\-f 	'59f4-7  	 vim! t 

\it)- 	4)60' *? 
1. c4') 
2. t-- KT7 c4)•<-11 
3. 3TITF 
4. ti ct-r<-IT 
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176, Before 1921 India was in 
which stage of demographic 
transition? 
(1) First 
(2) Socond 
(3) Third 
(4) Fourth 

177 Presently which sector contributes 
highest to Indin's notional Income? 

178 	Operation flood is related to 
(1) Flood control 
(2) Population control 
(3) Milk production 
(4) Traffic control 

179 	Inflation in India is measured on 
the basis of which index ? 
(1) consumer Price Index 
(2) Sensex 
(3) Wholesale price Index 
(4) Retail price Index 

180 	'Blue Revolution' is related to 	 
(1) Space research 
(2) Poultry 
(3) Fisheries 
(4) Drinking water  

176 	1921 tf  	viiict74g *1019°1 	f+---izr 
fivTft PTT? 
1, VIM 
2. ftrd171 

4, tivf 

177 	V*Tiwi     6W, %Thlr 	iTtft MIT 
AInfli *MN 401 

ct))4. 	 

178 	'3*0717 tt-FZ' TT 	4st f 	t- 
1.  
2. ‘31.1*kse-11 
3. -pT\.3011 c -( 
4. -11(-1N-110 P4-Aul 

179 	1.117 A 4-1 5 4 1 I 	11174 	ft7f TT.4071(t) .TT 

1. 3cr'T 11F4 \vicoict,  
2.  
3. ct) I ch 

4. VT 	 ct) 	

180 	 TNEr t — 
1 3f-aRaT 3T-T4qT 
2. Lifri -1 
3. ITEFt 41(-1-1 
4 tir4 tift 

(1) Agriculture 1, Ni4 
(2) Manufacturing 2. ' -dITT 
(3) Service sector 3. tri-r 
(4) None of the above 4. 	‘.1,-N)ctrf 

ROUGH WORK 
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